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•Уравнение – 

•Корень уравнения – 



•Уравнение – это равенство, 
содержащее неизвестное.

•Корень уравнения – это 
число, при постановки 
которого в уравнение 
вместо Х получается верное 
числовое  равенство.



х+35=50
70-х=28
х-23=46
х·3=15



Цель:



Цель: научиться 
решать уравнения с 
неизвестным 
множителем



6∙4=
24:6=
24:4=



6∙4=24
24:6=4
24:4=6



Х∙8=48



I ряд.
4∙х=36     х∙7=21
Х=9           х=3

II ряд.
х∙7=21    5∙х=45
х=3          х=9 

III ряд.
Х∙8=64    х∙3=12
х=8            х=4


